WHBGEE+E)HFFKIRIRE SF A RE
BEE AR
50K Bk 507K KK 50KE K 50K %K
EEd BR | B | BR | Bo | BR | Bn | AR | #87 |[EBABRES
1 B4 2 7 5 4 1 9 3 6 26
2 EHI 4 5 2 7 2 7 19
3 R 8 4 5 3 6 4 5 16
3 Ed=y 5 4 6 3 1 9 16
3 EHE 1 9 2 7 16
6 2x8 3 6 5 4 10
7 B 1 9 9
8 AR 3 6 7 2 8
8 goss 6 3 4 5 8
10 s 7 2 6 3 5
11 EpRfE 5 4 4
12 RIS 6 3 3
13 BEE 7 2 2
14 BR 4L 8 1 1
14 SEE 8 1 1
14 PR 8 1 1
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wom TR RO RIS MG RIS mis LS A




3 7 (35 1 T ) # 5 s kS 27201054
BBEHH%
SO3KESEX 503K AT 503K SO %
2 ER | 89 | R | 8BS | BR | BH | B8R | B8 [BAEES
1 HEE 2 7 3 6 1 9 2 7 29
1 M= 3 6 2 7 2 7 1 9 29
3 FIs 1 9 4 5 4 5 19
4 283 1 9 5 4 13
5 B 4 5 7 2 4 5 12
6 155 5 4 3 6 10
7 R 6 3 5 4 7
7 e 8 1 3 6 7
9 Bt 7 2 7 2 4
9 SRR 5 4 4
9 ERE 8 1 6 3 4
12 mEEE 6 3 3
12 st i 8 1 7 2 3
12 iR 6 3 3
15 BHE 8 1 1
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BREHDE
503K B ERik S0 ik SOKET K 503K K
" BR | B | BR | B | BR | Bh | &R | BH [BEAEED
1 EE 2 7 1 9 1 9 1 9 34
2 B 1 9 4 5 3 6 2 7 27
3 iigzlz 5 4 2 7 4 5 4 5 21
4 S 6 3 5 4 3 6 13
4 N 3 6 2 7 13
6 EE 4 5 3 6 11
7 233 7 2 7 2 7 2 6
8 RS 5 4 4
8 frea 5 4 4
10 {4 7 2 8 1 3
10 Efplia 6 3 3
10 PHIE 6 3 3
10 BRE 6 3 3
14 ES 1 7 2 2
14 BT 8 1 8 1 2
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WHEGETIRE)FHFEKIBRE BEF201244
BEEt R
50K Bk 50K Ak 500K &K 50K %K
e ‘R Soa BR Soa BR S5 BR B2 |BARSS
1 Ei— 1 9 3 6 1 9 1 9 33
2 MR 4 5 4 5 2 7 3 6 23
3 TR 7 2 1 9 4 5 16
4 L #83] 2 7 2 7 14
5 HEE 3 6 5 4 10
6 Eal)ecgic 6 3 7 2 4 5 10
7 MR, 2 7 8 1 8
8 =1HR 5 4 6 3 7
9 e 3 6 6
10 KRG 5 4 4
11 SRERVS 8 1 6 3 4
11 PR 5h<F 5 4 4
11 RAER 6 3 3
14 - 3= 7 2 8 1 3
14 FAR 7 2 2
16 &% % 8 1 1
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MEET DR
50RE X 507K ik 50RE7K 50K BRI

e BR | B2 | BR | B | BR | Bn | &R | 52 |[EAEESS
1 &y 4 5 3 6 5 4 1 9 24
2 F=g 6 3 2 7 2 7 17
3 2 ek 2 7 1 9 16
3 EAB 3 6 1 9 8 1 16
5 TERE 6 3 4 5 3 6 14
6 Fh5E 7 2 3 6 6 3 11
7 iR 1 9 8 1 10
8 =iaiZ 2 7 7 2 9
9 EN-EES 8 1 4 5 6
10 =2 4 5 5
11 FEH 5 4 4
11 MEIE 5 4 4
11 AREE 5 4 4

PR B 4 6 3 3

=85 7 2 2

PRER 4 7 2 2

SRIU# 8 1 1
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MEET DR
50RE X 507K ik 50RE7K 50K BRI
e BR | Bn | BR | B2 | BR | B2 | &R | B2 |[EABSS
1 BRE 5 4 1 9 13
2 mED 1 9 6 3 12
3 ERE 3 6 4 5 11
3 B 4 5 7 2 5 4 11
3 SN 8 1 6 3 2 7 11
6 |CHUNG HARVEY 1 9 9
6 FoapE 1 9 9
8 BREE 5 4 5 4 8
8 BRiE= 7 2 3 6 8
9 SSHE6A 2 7 7
9 RINFE 2 7 7
9 IRIETE 7 2 4 5 7
9 fa] JNEE 2 7 7
13 B 3 6 6
13 RIS 3 6 6
15 FE= 6 3 7 2 5
15 =ORE 4 5 5
17 BRAR % 8 1 1
17 REH 8 1 1
17 FHE 8 1 1
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SO3KESEX 503K AT 503K SO %

2 ER | 89 | R | 8BS | BR | BH | B8R | B8 [BAEES
1 T3k 1 9 2 7 3 6 2 7 29
2 sRAESA 2 7 5 4 1 9 3 6 26
2 1511 4 5 4 5 2 7 1 9 26
6 =IEER 6 3 3 6 6 3 4 5 17
4 BRISAT 7 2 1 9 8 1 6 3 15
5 F 458 3 6 5 4 7 2 12
7 BeR RE 3L 4 5 5 4 9
8 s 5 4 6 3 7
10 BERE 7 2 2
10 5 8 1 8 1 2
10 s 7 2 2
13 BREAE 8 1 1
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BREHE
SOKEIERX SO0K K% SOKESK SOSK 8K
2 ER | @85 | BR | B89 | BR | B8 | 8% | 85 |EARESH
1 MAEE 1 9 1 9 1 9 27
2 BRFE 2 7 2 7 3 6 4 5 25
3 =g 3 6 6 3 4 5 3 6 20
4 BEIE 4 1 9 2 7 16
5 WERRE 4 5 8 1 2 7 13
6 PR o6 6 3 4 5 7 2 7 2 12
7 Bl 55T 5 4 6 3 7
8 s Et 3 6 6
9 ETi 8 1 5 4 5
10 BT 5 4 4
10 2 5 4 4
12 AR 7 2 8 1 3
12 eSS 6 3 3
14 RS 7 2 2
15 Ay 8 1 1
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BREHAE
SO0K B ERX 503K AT SO K SOSK 8K

o ER | B85 | BR | B9 | 8% | 85 | 8% | 85 [EALEH
1 Fd 1 9 2 7 1 9 2 7 32
2 =& 3 6 1 9 3 6 1 9 30
3 FRH 2 7 4 5 2 7 4 5 24
4 BwFIE 6 3 5 4 4 5 5 4 16
5 BiEE 3 6 6 3 3 6 15
6 EAE 3 6 5 4 10
7 PRZCER 5 4 7 2 7 2 8
8 St 7 2 8 1 6 3 6
9 F353h 6 3 3
10 =R 7 2 2
11 2 8 1 8 1 1
11 MEE 8 1 1
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BREHAE
SO0K B ERX 503K AT SO K SOSK 8K

o ER | B85 | BR | B9 | 8% | 85 | 8% | 85 [EALEH
1 a1 1 9 1 9 18
2 o &l 2 7 2 7 14
3 BRUAR 4 5 3 6 11
4 e 5 4 4 5 9
5 3] 6 3 5 4 7
6 R 3 6 6
7 ik hET 8 1 6 3 4
8 =E2m 7 2 2
8 B8 7 2 2
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